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Combination Co-dominant and Incomplete Dominance Punnet Squares
Humans have a co-dominant blood type system.  The three possible traits are A blood, B blood, and A&B blood.

1. Both parents have A&B blood.

a. What is each parent’s phenotype?

b. What is each parent’s genotype?

c. Determine the possible genotypes of the offspring?

d. Write the probability for each of the possible blood types.

2. One parent has A blood.  The other has B blood.

a. What is each parent’s phenotype?

b. What is each parent’s genotype?

c. Determine the possible genotypes of the offspring?

d. Write the probability for each of the possible blood types.

Scale color in dragons is an incomplete dominant trait.  The intermediate trait is green.  The other two colors are yellow and blue.
3. A green dragon lays a nest of eggs with a blue dragon.

a. What is each parent’s phenotype?

b. What is each parent’s genotype?

c. Determine the possible genotypes of the offspring?

d. Write the probability for each of the possible scale color.

4. A yellow dragon lays a nest of eggs with a green dragon.

e. What is each parent’s phenotype?

f. What is each parent’s genotype?

g. Determine the possible genotypes of the offspring?

h. Write the probability for each of the possible scale colors.

In unicorns, pink coat and white coat colors are co-dominant.

5. A pink unicorn has a foal with a pink and white unicorn.

a. What is each parent’s phenotype?

b. What is each parent’s genotype?

c. Determine the possible genotypes of the offspring?

d. Write the probability for each of the possible coat colors.

6. A white unicorn has a foal with a pink unicorn. 
a. What is each parent’s phenotype?

b. What is each parent’s genotype?

c. Determine the possible genotypes of the offspring?

d. Write the probability for each of the possible coat colors.

Tulips show co-dominant  traits in color.
7. A red tulip is bred with a red & white tulip.
a. What is each parent’s phenotype?

b. What is each parent’s genotype?

c. Determine the possible genotypes of the offspring?

d. Write the probability for each of the possible tulip color.

8. A yellow tulip is bred with a red tulip.

a. What is each parent’s phenotype?

b. What is each parent’s genotype?

c. Determine the possible genotypes of the offspring?

d. Write the probability for each of the possible tulip color.

9. A purple & white tulip is bred with a white tulip.

a. What is each parent’s phenotype?

b. What is each parent’s genotype?

c. Determine the possible genotypes of the offspring?

d. Write the probability for each of the possible tulip color.

10. A pink tulip is bred with a pink & white tulip.
a. What is each parent’s phenotype?

b. What is each parent’s genotype?

c. Determine the possible genotypes of the offspring?

d. Write the probability for each of the possible tulip color.

Griffins show incomplete dominance in wing color.  Grey is the intermediate trait.  The other two colors are black and white.
11. Two grey griffins have babies.

a. What is each parent’s phenotype?

b. What is each parent’s genotype?

c. Determine the possible genotypes of the offspring?

d. Write the probability for each of the possible wing color.

12. A grey griffin has a baby with a white griffin.

a. What is each parent’s phenotype?

b. What is each parent’s genotype?

c. Determine the possible genotypes of the offspring?

d. Write the probability for each of the possible wing color.

